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Instructions

Use black ink or ball-point pen.

Fill in the boxes at the top of this page with your name,
centre number and candidate number.

Answer all questions.

Answer the questions in the spaces provided

— there may be more space than you need.

Calculators may be used.

If your calculator does not have a & button, take the value of & to be 3.142
unless the question instructs otherwise.

Diagrams are NOT accurately drawn, unless otherwise indicated.

You must show all your working out.

Information

The total mark for this paper is 80
The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.
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S52625A

©2016 Pearson Education Ltd.

6/6/7/5/

Read each question carefully before you start to answer it.
Keep an eye on the time.

Try to answer every question.

Check your answers if you have time at the end.
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Answer ALL questions.
Write your answers in the spaces provided.

You must write down all the stages in your working.

U Workout 17 L7 x L7 x 1.7 = 4.93

(Total for Question 1 is 1 mark)

2 There are only red sweets and yellow sweets in a bag.

g of the sweets are red.

Write down the ratio of red sweets to yellow sweets.

{ Fal‘f‘s ;n 6°‘E¢~\

2 recd
3 3:.”0»-9 7 - 3

(Total for Question 2 is 1 mark)

3 Draw a chord of this circle.

(Total for Question 3 is 1 mark)
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4 On the grid, complete the diagram of a parallelogram.

(Total for Question 4 is 1 mark)

5 A bowl contains

1 apple

1 banana

1 orange
and 1 peach

PO A>

Jess takes 2 pieces of fruit from the bowl.

AB Ao AP 3_0} ge, OP

Write down all the possible combinations of fruit that Jess can take.

AAAAAAAAAAAAAAAAAAAAAAAAAAA )’}

(Total for Question 5 is 2 marks)
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6 The first term of a sequence of numbers is 18
The term-to-term rule for this sequence is “add 6”

(a) Is 603 a term of the sequence?
You must explain your answer.

............... No bQCauSe even +teven o even

(b) Rizvi says,
“No terms of the sequence are multiples of 77

Give an example to show Rizvi is wrong.

1§ ¢+ C+l e +6 =42 = €x7

(Total for Question 6 is 2 marks)
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7 Here is a regular hexagon.
There are six identical hexagons.
Three of the hexagons are joined to make shape A.
The other three hexagons are joined to make shape B.
Shape A Shape B
Which shape has the greater perimeter, shape A or shape B?
You must show how you get your answer.
A b'&CAUC— B L\&.j Gné more. l‘&“&.ﬁb-ﬂ e&lja
net tnelovded 1w €Ehe P erineber (t’.<. 3 where
A hay 'Z)
(Total for Question 7 is 2 marks)
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8 A road map has a scale of 1:50000
The length of a road on the map is 8.5cm.

Work out the length of the real road in kilometres.

loo

- 4285 000
__45'0’\

§.5 x Soooo = 425000 cm~

4250~ = 4.25 K

(Total for Question 8 is 3 marks)

146°

A
Tom says,

Explain why Tom is correct.

32°

“ABC cannot be a straight line.”

(Total for Question 9 is 2 marks)

10 Uzma is planning a party for 120 children.
She is going to give every child a toy.

A pack of 8 toys costs £4.35

Work out how much Uzma will have to pay for the toys.

g
| S x £4.35 =

120 - 15 ()a..ck.s e+t éob}

e 25

(Total for Question 10 is 3 marks)
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11 Daisy thinks of a whole number.
She multiplies the number by 3

Daisy’s answer is 34

(a) Explain how you know Daisy’s answer is wrong.

34' s Vloé‘ a Mu{é" le o‘F‘ 3

Here is a number machine.

input ———  +6 %2 f———— output

Abbie says that when the output is 36 the input is 60

Here is her working.

36 -6=30
30 x 2=160

Abbie is wrong.

(b) Explain what she has done wrong.

_She b m 7'*4'{049 ....... 0(4-/h1—'0n! ,,,,,,, anh Cheir ondes .

(Total for Question 11 is 3 marks)
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(27 +63)
12 Work out the value of ( 48 -1.06 )

Give your answer correct to 2 decimal places.

= 2.1773
= 2_’? bb 2 A-f.

(Total for Question 12 is 3 marks)

13 Drinks and snacks can be bought in a cinema.

Drinks Snacks
coffee £1.50 popcorn £1.75
cola £1.25 nachos £1.15
orange 95p ice cream £1.60
chocolate 85p
Special Offer
Buy one drink and two different snacks for £3.99

Laura is going to buy one drink and two different snacks.

Work out the most money that Laura can save by using the Special Offer.

learcsé I&emg Coffee £1.50
Fofbofv\ £1.75
ICCCrcum 4’. 60 +

£ 4 .85

£ a.gs —£3.949 = Lo.g6

(Total for Question 13 is 3 marks)
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14 3 of the people at a football match are men.

27% of the people at the match are women.
The rest of the people at the match are children.

Work out what percentage of the people at the match are children.

:%x’b“z '-'37.YZ

3

—

¥

"1 €

wo @ A

S A EA
27 7 l6o—( 4.5

Ca.s %

Children

(Total for Question 14 is 3 marks)
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15 Jake is going to make a path from small paving stones and large paving stones.
The diagram shows Jake’s design for the path.
The rest of the path is made using the same pattern of paving stones.

1.5m

A small paving stone costs £2.30
A large paving stone costs £3.65

Jake needs to buy enough paving stones to make a path that is 6 metres long.

(a) How much will Jake have to pay for the paving stones he needs?

Fa/' L S-l-\ U{C-{tﬁh 10 siall aad 3 )"Jﬁt éll&s

16 x £2.38 = £2%.00
I x £3.65 £ 10.95 <+
4 33 .9¢%

For Cm 0‘&:’3« ,{’33~qy x4 = ézzr,?o
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Harry designs a different path that is also 6 metres long using the large paving stones.

1.5m

Harry says that the cost of his path will be less than half of the cost of the path that Jake
designed.

(b) Is Harry correct?
You must show how you get your answer.

1S m Aesisn Cx £3.45 = £zl 40
C n design 4 %x £21.40 = £87.¢0

]4“”3 (s U""“\S éf’?.éo ;5 Focre €Lan
halé of £135.€0 whick is anly £¢7.90

(Total for Question 15 is 6 marks)

J

1

AU 000 R Turn over »
S 5§ 2 6 2 5 A 01 1 2 4



16 In September Sharon paid £565 for some books.

She sold all the books for a total of £780

In October Sharon bought and sold some more books.
The total profit she made in October was 13% greater than the total profit she made in September.

In November Sharon wants to pay a bill of £30
Sharon thinks that the 13% extra profit she made in October will be enough to pay this bill.

Is Sharon correct?
You must show all your working.

Profit = £2g90—£5es = 42,¢

\374 of 4215 = #29.as

T‘L\:S ;S hcé ehoual\ bb Faj ‘n -£’$o L.gll

(Total for Question 16 is 3 marks)

100
17 Sol 5=— =
olve . 5% 100
2¢ = 100

18 Write an integer in the box to make the statement true.

2.6
T |z

Explain why the statement is true.

..... 2 €6 256  jf deveinaborx
7 =z 2y
s 1S gresber €han 21
(Total for Question 18 is 2 marks)
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1004 — 324 = 8y,

19 A television has a normal price of £675
In a sale the price is reduced by 32%.

~

Work out the price of the television in the sale. F nd é f/(
Lers xo.Ce = {459
P o T A
(Total for Question 19 is 3 marks)
20 The diagram shows a shape made by overlapping two identical squares.
The area of the shaded region is 25% of the area of each square.
Work out what fraction of the area of the whole shape is shaded.
l Phrb O'F 4— 1§ %;\adeu( I:-'\ C‘-C.L\ fa)/ual‘(
So 1 qu/: tmh (13 shaded o«c LoLo le SL.a/-e
L
AAAAAAAAAAAAAAAAAAAAAAAAA Y S
(Total for Question 20 is 3 marks)
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21 There are 240 students in Year 7 at a school.

The pie chart shows the proportion of boys and the proportion of girls in Year 7
\1 €av 7 1 eor "l
4 Girls
) ‘3 S A

. il 246 K 117
2406 x 1€3 boys 177 & 4 T
S6o co

=122 = g

There are 8 more girls in Year § than in Year 7
There are 32 fewer boys in Year § than in Year 7

Andy draws a pie chart to show the proportion of boys and the proportion of girls in Year 8

Work out the angle of the sector in Andy’s pie chart that represents girls.

Yeur € Mewr 8
6015 122 ~32 Girls N +€

= 90 = 126

Tota Qo+ 126 = 216

Grirls Pie chart "—mﬁ‘& s 126 . 3¢o
216

= 210°

(Total for Question 21 is 4 marks)
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22 Here is a number line.

v
=

|
IS
|
(8]
|
[\
|
[
[«
—
\S)
(98]
AN

(a) On this number line, show the inequality -2 < x < 3
(2)

(b) Solve 5n+3 > 27
5n.2>27-3
Sh 2 24

n > 24
5 n > 24

(Total for Question 22 is 4 marks)
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23 There are 60 students at a college.
20 students study both French and Spanish. o =
13 students study French but not Spanish. g ‘o
A total of 43 students study Spanish. 3 :
T
(a) Complete the Venn diagram for this information. §' E
- w
Z
-
French Spanish I E
e 0
m O
> (=]
3) é
One of the students at the college is to be selected at random. 4;%'/
(b) Write down the probability that this student studies neither French nor Spanish. ;\%
4. ‘5
_— S
_______________________ 6o .| E
1) -
B
(Total for Question 23 is 4 marks) s
2 =z
2 §
‘,»ig : ﬂ
f:ig o E
f»i:{ »', f»ﬁE »',
SO s
s E
e o
S :I-Q- :
0 S
% iﬁ . o io %
B ol
\ J
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24

e

—6

Describe fully the single transformation that maps triangle P onto triangle Q.
o - .
A0 Ané‘u ~clockwise abovE O, — |

(Total for Question 24 is 2 marks)
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25 Jean records the maximum daily temperature each day for 10 days.

She draws this scatter graph for her information.

She also records the number of children going to a paddling pool for each of these days.

50

45

40

35

30 /

N\

Number /

N\

of 25 /

children /- X

20

15

10

v

12 13 14 15 16 17 18 19 20 21 22

Maximum daily temperature (°C)

Jean’s information for one of these days is an outlier on the scatter graph.

(a) Give a possible reason for this.

(b) What type of correlation does the scatter graph show?

23

24

25

________________ T thﬂjwabanmm«»j&lessa'«tlolm—.
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On the 11th day, the maximum daily temperature was 19°C.
(c) Write down an estimate for the number of children going to the paddling pool on
the 11th day.
D
(1)
It would not be sensible to use the scatter graph to predict the number of children going
to the paddling pool on a day when the maximum daily temperature was 13 °C.
(d) Give a reason why.
............. o) ui‘s'daf?kar«nﬁao#fkﬂ(a‘*&‘-hf'&Sb
Pfe/«aév—\wfdm’o'e ........... L €his cese Ehe predides
Numbe,r ok C,Lu'lo(/eq wéu(o( be meﬁq_{—?we D
(Total for Question 25 is 4 marks)
y,
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26 The diagram shows a shape ABCDEF.

2mI
A 2 B

4m

F 2 +3 E

All the corners of the shape are right angles.
The perimeter of the shape is 28 m.

Work out the area of ABCE shown shaded on the diagram.

Pecimeber = 22 = X +2 +34+C A +344
2€ = 2= + 1%

28~-I1€ = 2=
o = 2x x=§
S = x So FE = €~

Small Rectange = 3x2 =6
Large Recbangle = Exa4 =32 +

v hele Slao.,o-a = 38

DA = L xrgra = 1L
AR = 3 xEr3 = 9 +

Both As 28w

= Whole Shipe — Bokh AS
= 3€ —§
= 13 w7 I3 m

Sl\u{c/l Avrea

(Total for Question 26 is 5 marks)
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27 Solve the simultaneous equations

(D xs
@+

Sob A x ;n®

4.(3) +4<=10
|2 +y =12
by Zle-1t2

4x +y =10 @
x—5y=13 @

207(+f3=5'0 @

2lx = (3
x = 63
2.

x =3

(Total for Question 27 is 3 marks)

‘3:—-2
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28 (a) Complete the table of values for y = —

0.5 1

1.5

075 |66 | 6-5

X

(2)

3
(b) On the grid, draw the graph of y = — for values of x from 0.5 to 6

N

(9]

N
=V

2

(Total for Question 28 is 4 marks)
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29 Samir invests £350 in a savings account.
He gets 2% per annum compound interest.

How much money will Samir have in the account at the end of 3 years?

3
fiso x 1oz = £371.42
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(Total for Question 29 is 2 marks)

OO

TOTAL FOR PAPER IS 80 MARKS

.
SR
SKELS
S
S
s
SEES
3
e
SO
RS
B
B

YaYSHINIILMMIONOD o vauvsiH

23

S 5§ 2 6 2 5 A 0 2 3 2 4



BLANK PAGE

ORI,

OO

K

QR

<

VAUV SIHL NI 3LIM

s




